14.88

12.81

(]

6 5 4 3 2 1
- 95— »
-~ 82— »
0.14 TYP
Ty
%
* ~
0.187 TYP JA
10.00
SECTION A-A
FOR REFERENCE ONLY
MOUNTING FEET SHOWN AS INSTALLED
11.41 ~ "
—> - 0.44 7.63

B="1 =

N
13.41 |

>

—r—o 1t

- 1081 ——————— =

| J_I_/ﬂLL
(N
4 i I
j — —
11.95 14.03
12.00 B 10.25 @ 9.63
4
= 7 i
"\‘ X S5 S =
SECTION B-B sys ss
NEMA 250: TYPE 1, 3R, 4, 4X, 12 i
SPECIAL REQUIREMENTS IEC 60529: IP66 STANDARD P/N:  AH12106 ALL DIMENSIONS ARE IN INCHES TOLERANCES XX XXX
ASSEMBLY: COLOR: N/A CUSTOMER DWG: UNLESS OTHERWISE SPECIFIED UNLESS SPECIFIED +0.03 +0.010
1. (1) ACCESSORY KIT (WPPCACCKIT) SHALL BE PACKAGED LOOSELY INSIDE ENCLOSURE COLOR STANDARD: PANTONE 7541 C :
HARDWARE INCLUDED: Robroy Enclosures

~(4) #1/4-20 x 1/2 FLAT HEAD PHILLIPS MACHINE SCREW (RMSC1/4-20X.5FLPH)
-(4) #10-32 x 5/8 PAN HEAD PHILLIPS MACHINE SCREW (RMSC10/32X5/8SS)
-(4) #10-32 x 3/8 PAN HEAD SCREW (RMSC10/32X3/8ZN)

MATERIAL: POLYCARBONATE

REVISION HISTORY

[AttoBo»

500 Maple Street
Belding, Michigan 48809

-(4) #10 WASHER (RMWAS10ZN) REV DESCRIPTION DATE ENG Phone: 616-794-0700
THIF?RE())R;/-\EVgI_II_\IYG O|§ -F?—O"EB S(C))tEE/’-\\IIEJ:IIZ_) C)E;(gg{_ggwe 2. (1) STYROFOAM SHEET SHALL BE PLACED ON TOP OF COVER INSIDE CARTON N N N N A ROBROY ENCLOSURE STM BRAND Fax: 616-749-3378
REPR[\IOODEQEB,OE';I;HI?SIB%BFQQ ’\é% thEI:BIEALLY : : : : DRAWNBY | DATE CUSTOMER DWG
| : : A | 10026716 AH12106
PERT}'E&EE%%%%E%O;:RES . 5 . . SCALE DESCRIPTION PART NUMBER
COPYRIGHT © 2016 ROBROY ENCLOSURES - - - - DO NOT SCALE STAN DARD{ ENCLOSURE ATAH12106
6 5 4 3 2 1




